Dalkeith High School - Level 2 - HOMEWORK 6

1. Write down the answers to the following :-

(@) 49x10 (b) 72 x10 (c) 318 x10 (d) 10 x 6-54
(e) 10 x 14-47 (f) 0-24x 10 (g) 10 x 1-009 (h) 0-0567 x 10
(i) 487 x 100 () 3-47 x 100 (k) 100 x 506 () 100x79
(m) 3-57 x 100 (n) 100 x 167 (0) 100 x 0-0584  (p) 0-0041 x 100

2. Write down the answers to the following :~ .
(a) 175+10 (b) 42-9+ 10 (c) 5475+ 10 (d) 57-82+ 10

(e) 6507+ 10 (f)'9+10 (g) 4801+ 10 (h) 0068 + 10
() 5892+100  (j) 482:47+100 (k) 12:6 + 100 () 57-08+100
(m) 310 = 100 (n) 7+ 100 (o) 13 +100 (p) 07+ 100
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